Copyright FCI. F '
hal l VJ m

|
REFERENCE SPECIFICATIONS
-NFC 93425 (in compliance with HE 507) Series [ R
A A
PHYSICAL CHARACTERISTICS
B — B —
-INSULATOR MATERIAL: THERMOPLASTIC UL94 V-0 Shell size: EABCD
-CONTACT MATERIAL: PHOSPHOR BRONZE see sheet 2
] GOLD OVER NICKEL Front accessory definition -
see sheet 2
Blank :wifhout accessory
-ACCESSORIES: BRASS,cadmium plated yellow passivation E flogti i
:Ttoaring mounting
-SHELLS: STEEL.cadmium plated yellow passivation )
B L threaded insert M3 B
ELECTRICAL CHARACTERISTICS 0 ‘threaded insert UNC 4-40
-NOMINAL CURRENT: 7.5A V female screw UNC 4-40
-CONTACT RESISTANCE: <= 7.3 m ohms I :fema[e Screw M3
_ | -CONTACT/CONTACT - >=1000 V Contact number (see sheet ?2) |
-CONTACT/GROUND >=1200 V 915.25.3750
-INSULATION RESISTANCE: >=5000 MOhms Contacts
ENVIRONMENTAL CHARACTERISTICS 5
c :Socket C
- CLIMATIC CATEGORY: 55/125/56
TEMPERATURE RANGE -55°C TO +125°C Plating
DAMP HEAT STEADY STATE 56 DAYS Blank :solder bucket 500 matings/unmatings
CALT SPRAY 18 HOURS 043  .solder bucket 500 matings/unmatings
for harsh environment
MECHANICAL CHARACTERISTICS
- RETENTION AGAINST TORQUE: - Threaded insert: 0.7 N.m minimum
- Female screw : 0.5 N.m minimum
D D
£
25 WAY for Example
surface - tolerance std projection
www.fciconnect.com 1S0 1302 M 150 406 150 1101 mm
TOLERANCES UNLESS OTHERW ISE SPECIFIED @— E}
Or (M PESSON 2006/11/14 ANGULAR 0.X 0.3 size Scale
R A L Y
. Chr [P LEGARE 2006711714 o [+ 0.XXX +0.05 ECN 1507-0273
? 3333273 :,L,E 2(())(())77?(1)225 Appr | P LEGARE 2006/11/14 Product family - | Spec_ref -
D _[F10-0072 | LSA | 2010/07/20 « SUB FEMALE DM HES01 series 2 e
e gJ' 2 S ¢ 0863 |
_/ with solder bucket ©
catalog no - CUSTOMER |5heet 10f &

2 3 4 5 6 1 8

PDS: Rev :D PDM: RevVADUS ReleaserusR el eas edPrinmihtddangd 202915




2 3 4 5 6 i 3
oL.7
A -
& radial gap 0.84+0.12
41 b . soeetd W . A M ]
OO 5 4 . —
N T i Y it o~ RN <@ @ S
- A - A i | B\ | 1 B H
= i =) =) N o =) N
§ | ! ©
o I ! I i ;fj'_' r I t{ /) ] i
i : i i
axial gap 0.2540.15 I
B ?3.10 £0.1 f
. . . insert M3 female screw UNC 4.4
FRONT ACCESSORY Blank without F  floating mounting L . v UNC 0
0O insert UNC 4.40 | female screw M3
c shell size Contact number
FRONT * XX
PART NUMBER ACCESSORY
D *MxxS without E 09
D=MFxxS floating mounting A ’IS
D*MLxxS insert M3 B 25
D*MOxxS insert UNC 4.40
D*MVxxS female screw UNC 4.40 C 37
; D*MIxxS female screw M3 D 50
FRONT
PART NUMBER ACCESSORY
D*MxxS043 without
D«MFxxS04 3 floating mounting
D*MLxxS043 insert M3
D*MOxxS043 insert UNC 4.40
£ D*MVxxS043 female screw UNC 4.40
D*MIxxSOL3 female screw M3
)
E CROSS REFERENCES HES501 and FCI
= FRONT
bre HES01 P/N FCI'P/N
-~ ACCESSORY
> surface - tolerance std projection
H HESOINXxAS D «MxxS without www.fciconnect.com 15D 1302 V 10 406 IS0 101 mm
S HES01FxxAS D *MF xxS floating mounting TOLERANCES UNLESS OTHERW ISE SPECIFIED @‘E}
© Or (M PESSON 2006/11/14 ANGULAR 0.X +0.3 size Scale
F Eng |P LEGARE 2006/11/14 u LINEAR 0.XX £0.1 A2 21
thr [P LEGARE 2006/11/14 o [+ 0.XXX 10.05 ECN 1507-0273
Appr | P LEGARE 2006/11/14 Product family - | Spec ref
« SUB  FEMALE DM HES501 series 2 Rev.
. = = C01-8637-1733
SCALE:L FS//J' ~ with solder bucket 3 D
e moo catalog no - CUSTOMER [ sheet 2 of &
2 3 4 5 6 8
PDS: Rev :D

PDM: ReVADJS: ReleagrusReleas edPrintghtddangs 2202915




2 3 4 6 1 8
DIMENSIONS  FOR SHELL E,A,B.C
A
Dimensions are in millimeters
— . ! _ — Shell Numl:ertof A f8'76 B f8'25 ( z012 |F f8'57 G f8'25 H tgm
AR ACACAS CACRERCASAC) @
R A A A A A A A A E | 09 [30.43 [16.21  [24.99 |10.64 6.05 19.02
N ! y —
B | . Al 15 |38.76  [26.54 [33.32 |10.64 | 6.05 | 27.25
© B | 25 [52.65 [38.25 [47.06 [10.64 | 6.05 | 41.02
- '
LS ’ = C| 37 le8.or [s6.71 (6350 [10.66 | 6.05 |57.45
7 e H
~ [QN]
(@) [
o~ o~
¢ * [ ] /_M"_l ‘
i : | Lol
1 : I . f ! i ! '
1 | | L@ -
[
A S
o
[
D 2
[: <
B
7 11.37shell 9-15]
2.74 shell 9-15) So
nE o~
=
[
E © ra . (N R
- g @ ' .
» 7 (51 (9000000000000)
o~ & | %
S *_ % N L/
2 o~
? |2 765he[[ 25 37| WWW.f[i[Onne[f,[Ol‘n ?SL:JP::('):; -\/ IStﬂot(e)érancelS??“m Dg‘% mm
S ' T B Or |M PESSON 2006711/ ANGULAR 0.X 0.3 |size Scale
F |138 shell 25 37| fng [P LEGARE 2006/11/14 LINEAR | oxx 0.1 A2 21
— Chr [P LEGARE 2006711714 o [+ 0.XXX +0.05 ECN 1507-0273
Appr | P LEGARE 2006/11/14 Product family - | Spec ref
« SUB  FEMALE DM HES01 series 2 Rev.
= o C01-8637-1733
scale FS//J' ~ with solder bucket 3 D
catalog no CUSTOMER |sheet 3 of &
o 2 3 4 5 6 8
PDS: Rev :D PDM: RevADUS ReleaserusReleasedPrineghddangp 2202015




A
2.76
1.38
| c\gj Y I I
[@N}
/
HO0O0ODOVOVOOCOOODD" 7
()
()| | @ev0000soesesees: | | -
] _ 0000000000000 Y! ~
g N — N~ ' /| I
B 55.07 0"
66.5597
3 S
¢ E H
> = -
=~ N S
_H
[
(@)
| | ] AR 2
| | o f 1
: t T ] ‘II O E T T {
Il i [ I : l @@
D i [Wa) o~
. e
LN ~
< 2
O ()
O 61.11 -
S +0.25
2 52.3047
o
E o
- s N
ﬂ o :
) ™ " x
el 0000000000000 000®
U ) | '000006000000060060@ || (-
S A CllClEllCiClRlelCICiClCICICICle)
%» \ i ) A surface -V tolerance std projection mm
é www-fticonnect.com = :::.ZIRAN(ES UNLESS OTI:::WAI(ST SPF.I:IIFSIOF.IJHO‘I @ E}
© Dr [M PESSON 2006/11/14 ANGULAR 0.X 0.3 size Scale
F Eng |P LEGARE 2006/11/14 LINEAR 0.XX £0.1 A2 21
Chr [P LEGARE 2006711714 o [+ 0.XXX +0.05 ECN 1507-0273
Appr | P LEGARE 2006711714 Product family - | Spec ref
. [=3 Rev.
scale 3 ngl 2 if solEeEpMu/iir DM HESO1T series g (0186371733 ;
catalog no CUSTOMER |sheet L of &

DIMENSTIONS FOR SHELL SIZE D

(50 CONTACTS)

6

8

PDS: Rev :D

PDM: ReVADJS: ReleagrusReleas edPrintghtddangs 2202915




